



XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX

:  
:  
:  
:  
:

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6500306-00003XX  
TrigonometryExercise6 for No.9428

$$No1 = \begin{bmatrix} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\sin(3\theta) = 0) & .4 = (\sin(2\theta) = 1) \end{bmatrix}$$

$$No2 = \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 + \cos(\theta) - 1 = 0) & .2 = (2 [\sin(\theta)]^2 - 3 \cos(\theta) - 3 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) & .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \cos(\theta)) & .6 = (4 [\sin(\theta)]^3 - \sin(\theta) = 0) \end{bmatrix}$$

$$No3 = \begin{bmatrix} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 1 = 0) \\ .3 = (\cos(4\theta) = 0) & .4 = (\cos(2\theta) = 1) \end{bmatrix}$$

$$No4 = \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 - 3 \cos(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 + \sin(\theta) - 1 = 0) \\ .3 = (2 [\sin(\theta)]^2 - \sin(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{bmatrix}$$

$$No5 = \begin{bmatrix} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 = 1) \\ .3 = (\tan(\theta) \sin(\theta) = \tan(\theta)) & .4 = ([\tan(\theta)]^2 - 1 = 0) \end{bmatrix}$$

XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX

:  
:  
:  
:  
:

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6500306-00004XX  
TrigonometryExercise6 for No.9459

$$No1 = \begin{bmatrix} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 1 = 0) \\ .3 = (\sin(3\theta) = 0) & .4 = (\sin(2\theta) = 1) \end{bmatrix}$$

$$No2 = \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 + 3 \cos(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 + \sin(\theta) - 1 = 0) \\ .3 = (2 [\sin(\theta)]^2 - \sin(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \sin(\theta) = \sin(\theta)) & .6 = (4 [\cos(\theta)]^3 - \cos(\theta) = 0) \end{bmatrix}$$

$$No3 = \begin{bmatrix} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 1 = 0) \\ .3 = (\cos(2\theta) = 0) & .4 = (\cos(4\theta) = 1) \end{bmatrix}$$

$$No4 = \begin{bmatrix} .1 = (2 [\sin(\theta)]^2 - 3 \sin(\theta) + 1 = 0) & .2 = (2 [\sin(\theta)]^2 - \cos(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 + \cos(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{bmatrix}$$

$$No5 = \begin{bmatrix} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 = 3) \\ .3 = (2 \tan(\theta) \cos(\theta) = \tan(\theta)) & .4 = ([\tan(\theta)]^2 - 1 = 0) \end{bmatrix}$$

X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX

:  
:  
:  
:  
:  
:  
:  
:  
:  
:





XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX

:  
:  
:  
:  
:

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6500306-00009XX  
TrigonometryExercise6 for No.9784

$$No1 = \left[ \begin{array}{ll} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\cos(2 \theta) = 0) & .4 = (\cos(4 \theta) = 1) \end{array} \right]$$

$$No2 = \left[ \begin{array}{ll} .1 = (2 [\sin(\theta)]^2 - \sin(\theta) - 1 = 0) & .2 = (2 [\cos(\theta)]^2 - \sin(\theta) - 1 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{array} \right]$$

$$No3 = \left[ \begin{array}{ll} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 1 = 0) \\ .3 = (\sin(3 \theta) = 0) & .4 = (\cos(3 \theta) = 1) \end{array} \right]$$

$$No4 = \left[ \begin{array}{ll} .1 = (2 [\sin(\theta)]^2 - 3 \sin(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 - 3 \sin(\theta) - 3 = 0) \\ .3 = (2 [\sin(\theta)]^2 - \sin(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\sin(\theta)]^3 - 3 \sin(\theta) = 0) \end{array} \right]$$

$$No5 = \left[ \begin{array}{ll} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 = 3) \\ .3 = (\tan(\theta) \cos(\theta) = \cos(\theta)) & .4 = ([\tan(\theta)]^2 - 1 = 0) \end{array} \right]$$

XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX

:  
:  
:  
:  
:

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6500306-00010XX  
TrigonometryExercise6 for No.10143

$$No1 = \left[ \begin{array}{ll} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\cos(2 \theta) = 0) & .4 = (\sin(2 \theta) = 1) \end{array} \right]$$

$$No2 = \left[ \begin{array}{ll} .1 = (2 [\sin(\theta)]^2 + 3 \sin(\theta) + 1 = 0) & .2 = (2 [\sin(\theta)]^2 + 3 \cos(\theta) - 3 = 0) \\ .3 = (2 [\cos(\theta)]^2 - \cos(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\sin(\theta)]^3 - \sin(\theta) = 0) \end{array} \right]$$

$$No3 = \left[ \begin{array}{ll} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 1 = 0) \\ .3 = (\cos(4 \theta) = 0) & .4 = (\sin(3 \theta) = 1) \end{array} \right]$$

$$No4 = \left[ \begin{array}{ll} .1 = (2 [\cos(\theta)]^2 + \cos(\theta) - 1 = 0) & .2 = (2 [\cos(\theta)]^2 + \sin(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 + \cos(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{array} \right]$$

$$No5 = \left[ \begin{array}{ll} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 = 1) \\ .3 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .4 = ([\tan(\theta)]^2 - 1 = 0) \end{array} \right]$$

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX

:  
:  
:  
:  
:  
:  
:  
:  
:  
:















